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(BHRX) |HKERTH 476 536 1,012 444
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HET—TH 740 780 1,520 746
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25— 1H 1,162 1,132 2,294 1,151
T5_TH 1,179 1,196 2,375 1,060
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KHT 874 779 1,653 787

HOH 1,062 1,002 2,064 817

BHT 1,727 1,709 3,436 1,355

& = 1422 1412 2,834 1,148

—VE—RX 1,290 1,333 2,623 1,087

—YEZRX 1,253 1,311 2,564 1,061

BIE 1,142 1,204 2,346 964
AB—-—TH 752 772 1524 721
ABT=-IMTH 904 998 1,902 908
ABRTHE-NTH 1427 1,437 2,864 1213

& H 2,106 2,135 4241 1,792

HE—TH 1,117 1,257 2,374 1,159

ME_TH 917 1,030 1,947 856

HME=TH 510 550 1,060 521

HMEEMTH 593 624 1,217 583

{E—TH 413 443 856 423

NE_TH 422 505 927 442

ELR 482 486 968 455

ETRHH 866 963 1,829 879

[ $ T 314 348 662 375
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FE#HXE 32,001 33,080 65,081 29,082
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(BEHBRX) [F&E 565 527 1,092 442
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#H 1,172 1,194 2,366 966

& 1,173 1,250 2,423 1,149

EHERR 485 603 1,088 555
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AEIX 55 43 98 39

AL [ b 140 238 378 165

EAHXE 4224 4456 8,680 3,842
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(BHERX) |EZX 452 462 914 391
E=X 430 417 847 357

FHX 980 1,009 1,989 859

EEa 1,128 1,017 2,145 993

FRX 3,113 2,951 6,064 2,629

FEX 2,082 2,008 4,090 1,707

EJINS 2,333 2,314 4647 1,831

FAX 4,098 3,923 8,021 3,462

FT+X 558 596 1,154 490
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Rt XEt 16,896 16,311 33,207 14,146
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ek 155 118 273 91
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=# 871 973 1,844 832
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E#EF 999 961 1,960 786
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(BFH%RX) ([ELEH# 1,352 1,453 2,805 1,726
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